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Question: 1

Which life-cycle model is most suitable for running experiments with potential customers to discover
what they actually want and supports a design thinking approach?

A. Lean

B. Exploratory
C. Program
D. Kanban

Agile
Scrum
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. Answer: B
Explanation/Reference:

Exploratory is a lean-startup based life-cycle suitable for this purpose

Question: 2

Which of the following is NOT a reason that a team must constantly evolve its way of working?

A. We learn new things all the time

B. Each team is unique

C. Other teams we work with are also evolving

D. The customer may not give us all the requirements at once

: Answer: D
Explanation/Reference:

The evolution of WoW is necessary because learning about the process and its
effectiveness in different situations is important

Question: 3

True or False: Transparency is good to some extent, but radical transparency can be harmful in the
long run

A. FALSE
B. TRUE
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Answer: A

Explanation/Reference:

Transparency is one of the important promises in Disciplined Agile. Radical transparency is critical to
enable effective governance and building trust over time

Question: 4

The most important role for the Team Lead in a Disciplined Agile team is to:

A. Guide the team about the domain
B. Develop the WoW for the team
C. Be the agile coach for the team
D. Hold the team accountable

Answer: C

Explanation/Reference:
The Team Lead in a Disciplined Agile team is the agile coach of the team

Question: 5

Identifying and evolving the organization's business vision, identifying products to meet the vision.
This is a description of which process blade?

Product management
Release management
Program management
IT governance
Enterprise architecture
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Answer: A

Explanation/Reference:
Product management is about aligning product vision with the business vision

Question: 6

While checking into a hotel room, the front desk remembered the guest's preferences with regard to
room selection, offered suggestions for in-room dining and offered a complimentary drop to the usual
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office location. Which principle was applied by the hotel?

Delight customers

Context counts

Optimize around products/services
Be awesome

Choice is good
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Answer: A

Explanation/Reference:
Customers are delighted when the offered products and services not only just meet the

expectations, but (whenever possible to do so) even surpass them

Question: 7

According to the testing pyramid, which of the following should account for most of the testing effort
for a product?

Unit testing
Regression testing
Exploratory testing
Service level testing
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Answer: A

Explanation/Reference:
Unit testing is at the base of the testing pyramid and bulk of the testing should be
carried out at this level

Question: 8

Sprint-zero or Iteration-zero will correspond to which of the phases of an agile project?

A. Elaboration
B. Transition
C. Inception
D. Construction
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